Number Reaction A n E | Ref.
148 CsHg — GCoHy + CoHs; + H 1.580E+16 | 0.00 | 460 | [1]
149 C4sHg — 2 CyHj 1.800E+13 | 0.00 | 356 | [1]
150 2 CoHy — C4Hg 1.260E+13 | 0.00 | 0 1]
151 CsHg + H — CyHz + CyHy 5.000E4+11 | 0.00 | O 1]
152 CsHg + H — Hy + CoHy + CoHj 6.300E+10 | 0.70 | 25.1 | [1]
153 C4Hg + OH — CHO + H + C3Hj 5.000E4+12 | 0.00 | O 1]
154 C4H¢ + CH3; — CHy + CoHy + CoHg 7.000E+13 | 0.00 | 77 | [1]
155 CsH; + CH; — CyHg 5.000E4+12 | 0.00 | O 1]
156 CsHg — C3Hg + CoHy 1.000E+16 | 0.00 | 305 | [1]
157 CsHg — CsHy + CoHy 3.160E+12 | 0.00 | 239 | [1]
158 CsHg — C3H; + CoHg 3.160E+12 | 0.00 | 239 | [1]
159 CsHg + O —  CyHs + C3Hs + HO, 3.000E+12 | 0.00 1]
160 CsHg + O —  CyHs + C3Hy + HO, 3.000E+12 | 0.00 1]
161 | CsHg + HOy — CoH, + CyHs + H,0, 1.000E+14 | 0.00 1]
162 | CsHg + HOy — CoHy + CyH, + H,0, 1.000E+14 | 0.00 1]
HP1 C;Hiy — CHjz + 2 CoHy + CoHj 1.000E+18 | 0.00 | 357 | [2]
HP2 C/Hig + H — Hy + CsHg + CoHy + CyH; 2.600E+06 | 2.40 | 18.7 | [2]
HP3 C;Hg+H — Hy;+ CHg + CoHy + CHg 2.080E+06 | 2.40 | 18.7 | [2]
HP4 C/Hg+H — Hy; + 3 CyHy + CHg 1.320E406 | 2.54 | 28.3 | [2]
HP5 C/Hi +H — Hy + CsHyg + CoH; 1.300E+06 | 2.40 | 18.7 | [2]
HP6 C;Hig + OH — H,0 + CsHyy + CoHjs 5.460E+06 | 2.00 | -5.5 | [2]
HP7 C;Hig + OH — H,O + C4Hg + CoHy + CH3 | 4.380E+06 | 2.00 | -5.5 | [2]
HPS8 C;Hig + OH — Hy0 + C3Hg + CoHy + CoHs | 4.750E+06 | 2.00 | -2.5 | [2]
HP9 C;Hig + OH — H,O + 3 CoHy + CHj 2.180E+07 | 1.80 | 4.1 | [2]

HP10f CsHyy = C3Hs + CoH; 1.000E+16 | 0.00 | 305 | [2]
HP11f CsHyy = C3Hg + CoHy 3.160E+12 | 0.00 | 239 | [2]
HP12 | CsH;g + OH — Hy0 + C3Hg + CyHgy 7.080E+07 | 1.90 | 0.7 | [2]
HP13 CsHyp + H — Hs + C3Hg + CoHg 1.300E+06 | 2.40 | 18.7 | [2]
HP14 CsHig+H — 2 CyHy + CH; 7.230E+12 | 0.00 | 54 | [2]
HP15f CsHip + H = C3Hg + CoHjy 7.230E+12 | 0.00 | 54 | [2]
HP16 CsHig+H — Hy + CoHy + C3Hjy 6.600E+05 | 2.54 | 28.3 | [2]
HP17 CsHyp+H — H; + C4Hg + CH; 1.150E+05 | 2.50 | 10.4 | [2]
HP18 C,Hs — C3H; + CHj 1.000E+16 | 0.00 | 305 | [2]
HP19f CsHs + H = CoHy + CoHs 7.230E+12 | 0.00 | 5.4 2]
HP20f C,Hy + H = (3l + CH;, 7.230E+12 | 0.00 | 5.4 | [2]
HP21 CHs +H — Hy + CyHs 4+ CoHy 6.600E+05 | 2.54 | 28.3 | [2]




Number Reaction A n E | Ref.

Units are mol, cm?, kJ, K.

The backward rates for all reversible reactions can be calculated from thermodynamic data.
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